BEATIVT o

DR-B (A7 Zvb—% )

TYPE1 TYPE2
W C L W C L
. | | Mex1 Mex1
Ay £ _ |l
“‘—J \‘ D l\\ x‘— ° Hosette_coinmg
/_Cross recessed /Cross recessed
TYPE3
W C L
s’:? Q M6X1
S— . |
Cross recessed
OME6XTE#a17
o fii # HEHE
o 1~off [1o~aom[somae| ° | W | © | L N | TYPE
DR-19-B2-4.5 300 270 240 19 6 2 4.5 49 2
DR-19-B1-5.5 200 180 160 19 6 1 5.5 49 2
DR-19-B0.5 130 120 110 19 6 0.5 8 49 1
DR-19-B1 130 120 110 19 6 1 8 49 2
DR-19-B2 130 120 110 19 6 2 8 49 2
DR-19-B2.7 130 120 110 19 6 2.7 8 49 2
DR-19-B3.5 260 230 210 19 6 3.5 8 49 1
DR-19-B1-14 200 180 160 19 6 1 14 49 1
DR-22-B0.5-4.5 200 180 160 22 7 0.5 4.5 196 1
DR-22-B0.5 130 120 110 22 7 0.5 8 196 1
DR-22-B1 200 180 160 22 7 1 8 196 2
DR-22-B2 170 150 140 22 7 2 8 196 2
DR-22-B3 170 150 140 22 7 3 8 196 2
DR-22-B4 170 150 140 22 7 4 8 196 2
DR-22-B5 200 180 160 22 7 5 8 196 2
DR-22-B6 200 180 160 22 7 6 8 196 2
DR-22-B1-10 400 360 320 22 7 1 10 196 1
DR-22-B3-10.5 230 210 190 22 7 3 10.5 196 1
DR-22-BH2-11 260 230 210 22 7 2 11 196 3
DR-22-B3.6-12.4 200 180 160 22 7 3.6 | 124 196 1
DR-24-B0.5 130 120 110 24 7 0.5 8 196 1
DR-24-B2 200 180 160 24 7 2 8 196 2
DR-24-B3 200 180 160 24 7 3 8 196 2
DR-24-B4 200 180 160 24 7 4 8 196 2
DR-24-B5 200 180 160 24 7 5 8 196 2
DR-24-B6 200 180 160 24 7 6 8 196 2
DR-24-B3-10.5 260 230 210 24 7 3 10.5 196 1

NEFRE | B9 300EER

163 SMP71



BWEATV T

b2 OXRTILYT
— S a0
DR-B (#A7 7Y b—% )
TYPE1 TYPE2
W C L W C L
. . M6X1 : MeX1
(O \ ‘ 2
il Wt D l \ ° i‘ Rosette coinin
/_Cross recessed ) Cross recessed .
TYPE3
W C L
= M6X1
= =
Cross recessed
o fii # HEME
e 1~of [10o~aomeomae| 0 | W  C | L N | TYPE
DR-26-B0.5-4.5 300 270 240 26 7 0.5 4.5 196 1
DR-26-B0.5 130 120 110 26 7 0.5 8 196 1
DR-26-B2 200 180 160 26 7 2 8 196 2
DR-26-B3 200 180 160 26 7 3 8 196 2
DR-26-B4 200 180 160 26 7 4 8 196 2
DR-26-B6 200 180 160 26 7 6 8 196 2
DR-26-B3-10.5 330 300 270 26 7 3 10.5 196 1
DR-26-BH2-11 300 270 240 26 7 2 11 196 3
DR-26-B3.6-12.4 300 270 240 26 7 3.6 | 124 196 1
DR-28-B0.5 300 270 240 28 7 0.5 8 196 1
DR-28-B2 260 230 210 28 7 2 8 196 2
DR-30-B0.5 300 270 240 30 7 0.5 8 196 1
DR-30-B3 300 270 240 30 7 3 8 196 2
DR-30-B3-10.5 330 300 270 30 7 3 10.5 196 1
DR-30-B3.6-12.4 330 300 270 30 7 3.6 | 124 196 1

KEFRHFE | B9300EFRRF

SMP71

164



BEATVT  coons

DR—H (F&h7v)
TYPE2 TYPE3
W1>‘ w I‘W2 Wi w | w2
1))
& N 1
S
o !
= i #® W1 |HFEHE

& & 1~omto~somsomeze| © | 9| W | w2 | [n] | TYFE
DRS-16-H4.1W0.25 | 260 | 230 | 210 | 16 | 41| 35| 0.25| 49 3
DR-18-H6 300 270 | 240 | 18 | 6 | 6 | — 49 1
DR-18-H8 300 270 | 240 | 18 | 8 | 5 | — 49 1
DR-19-H5 130 120 | 110 | 19 | 5 | 6 | — 49 1
DR-19-H6 300 270 | 240 | 19 | 6 | 6 | — 49 1
DR-20-H8 300 270 | 240 | 20 | 8 | 6 | — 294 | 1
DR-22-H6 120] 110 | 100 | 22 | 6 | 7 | — | 19 1
DR-22H6WA 200 180 | 160 | 22 | 6 | 7 |1 196 2
DR-22-H8 260 | 230 | 210 | 22 | 8 | 7 | — 49 1
DR-24-H105 300 | 270 | 240 | 24 | 105 7 | — 49 1
DR-24-H6 130 120 | 110 | 24 | 6 | 7 | — | 19 1
DR-24-H6W1 200 180 | 160 | 24 | 6 | 7 |1 196 2
DR-26-H6 130 120 | 110 | 26 | 6 | 7 | — | 19 1
DR-26-H6W1 170 | 150 | 140 | 26 | 6 | 7 | 1 196 2
DR-28-H6 260 230 | 210 | 28 | 6 | 7 | — | 19 1
DR-28-H6W1 330 | 300 | 270 | 28 | 6 | 7 |1 196 2
DR-30-H10-8 300 270 | 240 | 30 | 10 | 8 | — | 245 1
DR-30-H10-9 650 | 580 | 520 | 30 | 10 | 9 | — | 245 1
DR-30-H6 260 | 230 | 210 | 30 | 6 | 7 | — | 19 1
DR-30-H6W1 300 | 270 | 240 | 30 | 6 | 7 |1 196 2
DR-32-H12 760 | 680 | 610 | 32 | 12 | 10 | — | 294 1
DR-35-H15 890 | 800 | 720 | 35 | 15 | 11 | — | 294 1
DR-35-H6 300| 270 | 240 | 35 | 6 | 7 | — | 19 1
DR-35-H6WA 300| 270 | 240 | 35 | 6 | 7 |1 196 2
DR-40-H17 1,000 | 980 | 880 | 40 | 17 | 12 | — | 294 1
DR-40-H6 430 | 390 | 350 | 40 | 6 | 8 | — | 196 1
DR-40-HBWO0.5 400 | 360 | 320 | 40 | 6 | 8 |05 | 19 2

XEFRWE | B9 300k

165 SMP71



BWEATV T

by ONTILYG
~
DR—A (513 *#)
TYPE1 TYPE2
W C L W C L
"lén \'U . . 0 6
_—
o d2 J1 d2 di
TYPE3 TYPE4
W C L
o N
L 0 P
o — e
T d2 di Td2 di
i & HAME

[=]

m & 1~98 | 10~29f8 |50BHL D | di w C L d2Xx 6 A [N] TYPE
DRS-16-A1 530 | 480 | 430 | 16 | 4 5 1 3.5 $3X1 00°| — | 19.6| 1
DRS-16-A1.5 260 | 230 | 210 | 16 | 5 6.35| 1.5 | 3.5 ¢4.5X90° — | 19.6] 1
DR-18-A0.5 300 | 270 | 240 | 18 | 5 6 0.5 | 3.5 $4X1 20| — | 19.6| 2
DR-19-A0.5 120 | 110 | 100 | 19 | 5 6 0.5 | 3.5 $4X1 20°| — | 29.4| 2
DR-22-A1 120 | 110 | 100 | 22 | 5 7 1 3.5 ¢4.4X90° — | 784| 2
DR-22-A2 230 | 210 [ 190 [ 22 | 5 7 2 3.5 ¢4X90° — | 78.4| 2
DR-22-A2-6 230 | 210 [ 190 [ 22 | 6 7 2 3.5 ¢5.5X90° — | 784| 2
DR-22-AH2.5 200 | 180 | 160 | 22 | 5 7 25 | 3.5 $4X11 0’| — (196 4
DR-22-AH2.5-3.65 200 | 180 | 160 | 22 |4.5|7 2.5 | 3.65|$2.3X11 0’| 1 (196 3
DR-22-AH35-8019 | 200 | 180 | 160 | 22 | 4.5|7 0 3.5 — 1 (196 3
DR-24-A1 130 | 120 | 110 | 24 | 5 7 1 3.5 ¢4.4X90° — | 78.4| 2
DR-26-A1 130 | 120 | 110 | 26 | 5 7 1 3.5 ¢4.4X90° — | 784| 2
DR-26-AH 200 | 180 | 160 | 26 |4.5|7 0 3.5 - 1 |[196 3
DR-26-AH2.5-3.65| 230 | 210 | 190 | 26 | 4.5|7 2.5 | 3.65|$2.4X11 0’| 1 [196 3
DR-28-A1 260 | 230 | 210 | 28 | 5 7 1 3.5 ¢4.4X90° — | 78.4| 2

MEFRE | B9 300EERH

SMP71

166



167

BWEATV T

by INTILT
DO (#REAMR)
TYPE1 TYPE3
W CL W C L
RS R5
M6 X1
U
- T | D \ &
o ?2 di /Cross recessed | Rosette coining
TYPES TYPEG6
w1 W _ow2 w
R5
B
D _dr D - -i-d
fi =& W1 |HERE

=]

@ F m oo O |9 |91 W C L] d2X8 | wy |'[N] |TYPE
DO-19-A0.5 230 | 210 | 190 (19 |— | 5 | 6 |0.5]| 3.5] $4X120°| — 294| 1
DO-22-A1 170 | 150 | 140 |22 | — | 6 | 7 |1 3.5 $4.4X90°| — 784 1
DO-24-A1 170 | 150 | 140 |24 |— | 5 | 7 |1 3.4|$4.4X90°| — 78.4| 1
DO-26-A1 200 | 180 | 160 |26 | — | 5 | 7 |1 3.5/$4.4X90°| — 78.4 1
DO-19-B0.5-4.5[ 300 | 270 | 240 |19 | — | — | 6 |0.5] 4.5 — - 49 2
DO-19-B0.5 230 1 210 [190 |19 | — | — | 6 |0.5| 8 — — 49 2
DO-22-B0.5 170 (150 | 140 |22 |— | — | 7 |0.5]| 8 - — |196 2
DO-22-B5 200 | 180 | 160 |22 | — | — | 7 |5 8 — — [196 3
DO-22-B3-10.5 [ 260 | 230 | 210 |22 | — | — | 7 |3 |10.5 - — [196 2
DO-24-B0.5 200 | 180 | 160 |24 |— | — | 7 |0.5]| 8 - — 1196 2
DO-24-B2 260 | 230 [ 210 |24 | — | — | 7 |2 8 — — 196 3
DO-24-B3 200 | 180 | 160 |24 | — | — | 7 |3 |8 — — [196 3
DO-26-B0.5 230 | 210 [ 190 |26 |— | — | 7 |0.5] 8 - — 1196 2
DO-28-B0.5 260 | 230 | 210 |28 | — | — | 7 |0.5| 8 — — [196 2
DO-30-B3 460 | 410 | 370 |30 | — | — | 7 |3 |8 — — (196 3
DO-19-H5 170 (150 | 140 |19 | 5 | — | 6 | — | — — - 49 6
DO-22-H6 170 | 150 (140 |22 | 6 | — | 7 |— | — — — [196 6
DO-24-H6 200 | 180 (160 |24 |/ 6 | — | 7 |— | — - — [196 6
DO-24-H6W1 200 | 180 (160 |24 | 6 | — | 7 |— | — — 1 196 5
DO-26-H6 200 | 180 (160 |26 | 6 | — | 7 |— | — - — [196 6
DO-26-H6W1 230 | 210 (190 |26 | 6 | — | 7 |— | — — 1 196 5
DO-28-H6 300 | 270 (240 |28 |6 | — | 7 |— | — — — 1196 6
DO-40-H6W0.5 | 590 | 530 | 480 |40 6 | — | 8 | — | — — 0.5 (196 5

HHFETE | BHI00EER
SMP71



by ORTILT

fi % HAWE | FAFE2
@ & 1~0f |10~49(8 | 50ALIE o R e N |TYPE
DF-17-B0.5 | 500 | 450 | 410 |17 |19 |— | 6 | 1 | 05| 8 49 — 1
DF-22-B0.5 | 330 300|270 22|26 |— | 7| 2 | 05| 8 | 196 — 1
DF-26-B1 300 270 [ 240 [ 26 |32 |— [11 | 3 |1 | 8 | 196 — 2
DF-26-B2 330 300|270 [ 26 |32 |— |11 | 3 |2 | 8 | 196 — 2
DF-17-H6 260 [ 230 | 210 |17 (19| 6 | 6 |1 |— | — | 49 | 147 | 3
DF-22-H6 400 | 360 | 320 (22|26 | 6 | 7| 2 |— | — ] 196 | 39.2 | 3

XEFRMEET  SHmEEES300EEEF FRFES | NEHOEEF 23000 #akF

DH (#REL:E)

TYPE1 TYPE2
W CL W Cc L
P G
T | | Mex1
P ¥
f NN
oot g2 di e o Cross recessed
& LI D |D1|d|dl|W|C | L |d2Xe G |TYPE
1~9ff |10~49f8 | 50fELLE
DH-16-A0.5 460 | 410 | 370 (19 |16 | — | 5 | 6 |0.5|3.5 |¢4X120°| 2.1 1
DH-16-B0.5 430 | 390 350 |19 (16 | — | — | 6 |0.5|8 — 2.1 2
DH-16-B1 500 | 450 410 |19 (16 | — | — | 6 |1 8 — 2.1 2
DH-19-B0.5-2 | 430 | 390 | 350 [ 22 |19 | — | — | 7 |0.5|8 — 2 2
DH-16-H5 430|390 350 |19 (16| 5 | — | 6 | — | — — 2.1 3
DH-19-H6-2 500|450 {410 |22 (19| 6 | — | 7 | — | — - 2 3
DH-19-H6-2.5| 530 | 480 [ 430 |22 |19 | 6 | — | 7 | — | — — 2.5 3

SMP71 168



BEATVT —
DU ($4EUiR)

TYPE1 TYPE2
W CL W G L
R | R
32/‘ - M6X 1
[ 0
TYPE3 TYPE4
w w1 W w2
R R
o d LS ! Ji ..... 1.

8 & — 1{':%91{;50@% D|D1|d|dl|w|c|L|d2xe m R |TYPE
DU-19-A05 | 170 | 150 | 140 | 19 [17 | — | 5 | 6 | 0.5 3.5|¢4x120'| — |1.75 1
DU-22-A1 170 | 150 | 140 | 22 [19.2] — | 5 | 7 |1 | 3.5 |o44X%0| — |25 | 1
DU-24-A1 200 | 180 | 160 | 24 |21.2] — | 5 | 7 |1 | 3.5 |444X%0| — |25 | 1
DU-26-A1 200 | 180 | 160 | 26 |23.2] — | 5 | 7 |1 | 3.5 |o44X%0| — |2.5 | 1
DU-19-B05 | 170 | 150 | 140 |19 [17 | — | — | 6 |05|8 | — | — [1.75 2
DU-19-B2 200 | 180 | 160 |19 |17 | — | — | 6 |2 |8 | — | — |1.75] 2
DU-22-B0.5 | 170 | 150 | 140 | 22 [192] — | — | 7 |05|8 | — | — |25] 2
DU-22-B6 260 | 230 | 210 | 22 [192| — | — | 7 |6 |8 | — | — |25] 2
DU-24-B0.5 | 200 | 180 | 160 | 24 |212| — | — | 7 |05|8 | — | — |25 2
DU-26-B0.5 | 200 | 180 | 160 | 26 |232| — | — | 7 |05|8 | — | — |25 2
DU-19-H5 200 | 180 | 160 | 19117 | 5 | — | 6 |— | — | — | — |1.75 3
DU-22-H6 200 | 180 | 160 | 22 [192| 6 | — | 7 | = | = | — | — |25] 3
DU-22-HBW1 | 230 | 210 | 190 | 22 [192| 6 | — | 7 | — | = | — |1 |25 4
DU-24-H6 200 | 180 | 160 | 24 [212| 6 | — | 7 | = | = | — | — |25] 3
DU-26-H6 200 | 180 | 160 | 26 |232| 6 | — | 7 |— | — | — | — |25] 3
DU-30-H6-M | 300 | 270 | 240 | 30 |25.7| 6 | — | 7 | — | = | — | — |25 3
DU-35-H6W1 | 460 | 410 | 370 | 35|31 |6 | — | 7 | — | = | — |1 |25 4
DU-40-HBWO0.5| 360 | 320 | 290 | 40|36 | 6 | — | 8 | — | — | — |05|25 ] 4

169 SMP71



BWEATV T

byoNTI G
DV (%@ V:8)
TYPE1 TYPE2 TYPE3
w. c L w
W CL
R
M6X1 )
D D1
po d2d1 Cross recessed D DI I —l J
m & fii 1§ D[(Dl|d|dl|W|C | L |[d2X8|M |R [TYPE
1~9f8 |10~49f | 50fELIE
DV-19-A0.5 260 | 230 | 210 (19 (17 | — | 5 |6 |0.5| 3.5|$4X120°| 60 | 0.6 | 1
DV-26-A1 300 | 270 | 240 (26 |23 | — | 5 |7 |1 | 3.5/¢4.4X90°| 60 |0.6| 1
DV-30-A1 430 | 390 | 350 (30 |27 | — | 5 |7 |1 |3.5/¢4.4X90°| 60 |0.6| 1
DV-38-A0.5 530 | 480 | 430 (38 |35 | — | 5 |8 |0.5| 3.5|¢44X9%0°| 60 |0.6| 1
DV-19-B0.5 260 | 230 | 210 |19 (17 | — | — |6 |05(|8 — 60 (06| 2
DV-22-B0.5 230 | 210 | 190 |22 (19 | — | — |7 |05 8 — 60|06 2
DV-24-B0.5 260 | 230 | 210 (24 |21 | — | — |7 |0.5|8 — 60 |0.6| 2
DV-26-B0.5 300 | 270 | 240 |26 |23 | — | — |7 |0.5|8 — 60|06 2
DV-30-B0.5-0.5R| 560 | 500 | 450 |30 (28 | — | — |7 |05 8 — 90 |0.5| 2
DV-32.5-B1.5-2R| 460 | 410 | 370 |32.,5/20.5| — | — | 9.5/1.5| 8 — 15 |2 2
DV-19-H5 260 | 230 | 210 (19 (17 | 5 | — |6 | — | — — 60 |0.6| 3
DV-22-H6-M 200 | 180 | 160 |22 (19 | 6 | — |7 | — | — — 60|06 3
DV-24-H6 260 | 230 | 210 |24 (21 | 6 | — |7 | — | — — 60|06 3
DV-26-H6 460 | 410 | 370 |26 |23 | 6 | — |7 | — | — — 60|06 3
DV-30-H6 360 | 320 | 290 |30 |27 | 6 | — |7 | — | — — 60 |0.6| 3
SMP71

170



BEATVT  coons

~
IDS (RF =15 —])
TYPE1 TYPE2 TYPE3
W CL w ¢ L Wi w w2
) W M6X1 W=7l
+ 6 H ; %' \
/< %/{}{Z’(«u\\\\\‘\{\\%
! 1 ! N\
d2 d1 Cross recessed D —--——-
i #& W1 |#EHE

=]

& & 1~9E To~tsB o] O | 9 |91 W | C L | d2Xe | o |T\] |TYPE
IDS-22-A2.5 360 | 320 | 290 (22| — | 5 | 7 |2.5| 35 — — | 392 | 1
IDS-26-A1.5 400 | 360 | 320 [ 26| — | 6 | 8 |1.5]| 3.5/$5.5X90°| — | 588 1
IDS-22-B1.5-11 400 | 360 | 320 (22| — | — | 7 |1.5|M1 — — | 392 2
IDS-26-B5-9 400 | 360 | 320 26| — | — | 8 |5 |9 — — | 588 | 2
IDS-26-B2-11 430 | 390 | 350 [26| — | — | 8 |2 M — — | 588 | 2
IDS-30-B2-11 660 | 590 [ 530 (30| —|— | 9 |2 1 — — | 588 2
IDS-26-H6.35W0.8 | 430 | 390 | 350 | 26 |6.35| — | 8 | — | — - 08 | 294 | 5
IDS-35-H6.35W0.26 | 560 | 500 | 450 | 35(6.35| — | 9 | — | — — 0.26| 294 | 5

KEFRNE | B2 300EIEREF

171 SMP71



173

BWEATV T

by oNTILT
k> [ =]
PE (REm)
BEaFERIIFLY
i % .

=] _ -

@ & 1~9f |10~49fA 50U E| ° e i R—IHH
PE-26-PHP10 1,740 | 1,570 | 1,410 | 26 | 10 8 | P:RUIFL>
PE-30-GHP10 5,580 | 5,020 | 4,520 | 30 | 10 9 | G:HFX
PE-30-PHP10 1,950 | 1,760 | 1,580 | 30 | 10 9 | P:RYUIFL>
PE-32-PHP12 2330 | 2,100 | 1,890 | 32 | 12 | 10 | P:RUIFL>
PE-35-PHP15 2570 | 2,310 | 2,080 | 35 | 15 | 11 | P: RUIFL >
PE-35-SHP15 2570 | 2,310 | 2,080 | 35 | 15 | 11 | S: AT L X4}
PE-47-PHP20 25820 | 2,540 | 2,290 | 47 | 20 | 14 | P:RKUITFL >
DR-S (ifi7k1¥)

TR—L—2 . RUF7EH2—IUEEE
A>F—L—RX  AF2L R
R—=JL P AT R
[ HERE
=]

& 1~9fE [10~491E|50fELL E B ¢l b [N]
DR-18-SHS6 1,400 1,260 | 1,130 18 6 6 —
DR-22-SHS6 1,090 980 880 22 6 7 —
DR-22-SHS8 1,180 1,060 950 22 8 7 —
DR-26-SHS10 2,020 1,820 | 1,640 26 10 8 98
DR-30-SHS10 930 840 760 30 10 9 147
DR-32-SHS12 1,090 980 880 32 12 10 176
DR-35-SHS15 1,300 1,170 | 1,050 35 15 11 176
DR-40-SHS17 1,950 1,760 | 1,580 40 17 12 205
DR-47-SHS20 2,110 1,900 | 1,710 47 20 14 235

SMP71





